D 6+2vV3 @ 3+4+6v2 ® 2+3v6
@ 3426 B 24+ 63



2. oS ¥ 22 AABC oA AB 9] Zo]=?

@D 21 @ 2v21 G 3v21 @ V22 G 24/22



@ 7 3 V10

7

@ 25 3 7

@D 5



4. s I O] LA =90° )1 AZAAY ABC oA /a2 +y2 =
“otolet. (2, 29l A=)




5.

o5 283 2ol A,B,C,D Y

Sty Aoz A4

il o

:/\]P

—

bo
Kl

it
Rl

Hrk. ARl A Y SturtA] o] A7t ohgit &
Al 9km 2 EFW5te] ARof k2=t Az
A \\
EEINCA /
o Q :,1\0\/5111
! 40m
10/10m X
_, B
sl
D 6 % Q 8 % 3 10 %

@ 12 %

2



= Al

o

= Age

el
N

T

ABC oA

AR

ol

©9

g

2] gole]

o, Al &

£ 1%

‘;]_P,Q,R

o
Q.

ks

@ 70mcm? ® 8lmcm?

@ 64rcm?

B 121mcm?

@ 100mcm?



ol

ofg

=DF

=DE

A2?
® A'D

@ ADEF

® CF=3

@ /DEF = /DFE

® /ANEF =90°



E1r
‘q_OI,_OL:lmE
ﬁuﬂ}r?
2R % )
ﬂo_}a%
‘I‘._.zo_,A d_ol
~ wo
7 ¥ ©l 5
T <
ﬂuvwwuo%“m_,.x
oEﬁ.]o __AoL
qﬂém
Wﬁomﬂ]
%E%o
< _,_moﬁﬂ%
=
TN .
7_|mﬂ
)

@)
15V2
@)
15V3
® 162
@
16 V3
®
172



oS 193 2ol LOAB = 30° ¢l A=
OAB S| AAB = 127(cm) & ©, AB ] 2
olg Fatolal.




10. o=

of ol g 3t

@ V73em
@ 274 cm

gy e

@ 2+73cm ® 7dcm
® 2477 cm



11.

Xy 7hohe 2 ZE W, 24y & T
A 2.




12. ©<& 193 Lo /ACB = - _A
45°, /CAD = 30° 4 o, x ©] Zo]

=9




13.

D V13 @ 2vi3 B 3vVi3 @ 4413 ® 513



14. izh4e] Golzt 12 & A UANA & BA ] Lol7havh U i,
a+b O e Foelt. (% b Hao) AA%)

R Eiatb=



\/_

15. 7k 22 o gapein|o] Ayelg Fatelet

SR
c



ol 7t

we)

2t

jo

Hit go] 22

kel
]

16. ot

24v2cm <1 AAF

oy

~2/2cnr C

cm2



cm



